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PeweHue 3a0ay c
rnpuMeHeHuUeM MoHsIMusl
KoJsiu4yecmeo seuwecmea




15.04.2014

Bbluncnnte MonsapHyro maccy

YKCYCHOM KUCIOTbI M(CH,COOH) = 60 r/mons

nepmanraHata kanus  M(KMnO, ) = 158 r/monb

KEeNTOWN KPOBSIHOM M(K,[Fe(CN).] = 3H,0) = 422 r/monb

COoJ1n




15.04.2014

3anmoAHHTE TAOAHILY

Co,
. 44 r/monb
n 0,1 moas
m 4,47

NMOAeKyA 0,6 n 1023

aTOMOB 1,8 = 1023

HCl

36,5 r/Imonb

10 monb

365 r

60 = 10%°

120 = 10

NH

17 r/monb

0,5 monb

8,5r
3:10%3

12 = 10%

cl,

)

71 r/Imonb

1 monb

71r

6= 102

12-10%°




M(CO,) = 12+16+2 = 44 r/monb



m(CO,)=n=M=
=01 mvMonb"44r/monb=44r



(CO,)=n=N, =

Mone Kyn

=0,1monb* 6=10%2 1 _=
MOJ1b

=0,6 = 10%°



(CO,)=3- =

aTOMOB MO.I19Ky11

=3:0,6=10%° =1,8=10%



M(HCI) = 1+ 35,5 = 36,5 r/Imonb



n(HCl) = 1M =
M

= 69T =10 monb

36,5 r/monb




(HCl)=n=N, =

MOJIEKYJ

=10 Monb = 6=10% 1_
MOJ1b

=60 = 10%°



(HCI) =2 = N =

aTOMOB MOJIEeKYI

=2=60=10%° =120=10%



22.11. 2012

n(NH,) = N _

N,

3102
6 =102 -

MOJ1b

= 0,5 monb



M(NH,) =14 +1 =3 =17 r/Imonb



M(NH,) =n=M=

=0,5monb =17 r/Imonb =8,5Tr



(NH,) =4 » =

aTOMOB MoneKyn

=4=3=10%° =12+=10%



%

MOJeKyn (CIZ) 2

_12=10%
2

=6=10%







M(CL) = 35,5=2=71r/monb



[lomallHee 3agaHuve:

B § 15 usyuutb odbpasubl pewieHns 3agav;
ynp.1a; 2a,6; 3a,0



